Magt BFRFIREEEEL

set mxloops=50000.
set width=132.
matrix.
*compute bar=make(50,1,1).
compute typemat=make(50,1 ,0).
compute itmat=make(50,20,0).
compute startl=make(50,1,0).
compute start2=make(50,1,0).
compute sequeni=make(50,5,0).
compute sequen2=make(50,3,0).
loop i=1 to 50.
compute type=trunc(uniform(1 ,D*6+1).
*print i /title="Ttem'.
compute typemat(i,1)=type.
*print type-
do if (type = 1).
compute seg=trunc(uniform(1 J3)*3+1).
loop ii=1 to ncol(seq).
compute sequen](i,ii)=seq(ii).
end loop.
* print seq.
compute starter=trunc(uniform(1,1)*20+1)+20.
compute startl(i,:)=starter.
* print starter.
compute step=1.
* print step.
compute it=make(1,20,0).
loop j=1 to 20.
compute seqk=mod(j,ncol(seq)).
do if (seqgk = 0).
compute segk = ncol(seq).
end if.
* print segk.
doif j=1).
do if (seq(1,seqk)=1).
compute it(1,1)=starter+step.
else if (seq(1,segk)=2).
compute it(1,1)=starter-step.
else if (seq(1,seqk)=3).
compute it(1,1)=starter.
end if.
else.
do if (seq(1,seqk)=1).
compute it(1,j)=it(1 J-1)+step.
else if (seq(1,seqk)=2).
compute it(1,j)=it(1,j-1)-step.
else if (seq(1,seqk)=3).



compute it(1,j)=it(1,j-1).
end if.
end if.
end loop..
*print it.
compute itmat(i,:)=it.
*print /space=3.
else if (type = 2).
compute seq=trunc(uniform(1,4)*3+1).
loop ii=1 to ncol(seq).
compute sequenl(i,ii)=seq(i1).
end loop.
* print seq.
compute starter=trunc(uniform(1,1)*20+1)+20.
compute startl(i,:)=starter.
* print starter.
compute step=1.
* print step.
compute it=make(1,20,0).
loop j=1 to 20.
compute segk=mod(j,ncol(seq)).
do if (segk = 0).
compute segk = ncol(seq).
end if.
* print seqk.
doif j=1).
do if (seq(1,segk)=1).
compute it(1,1)=starter+step.
else if (seq(1,seqk)=2).
compute it(1,1)=starter-step.
else if (seq(1,seqk)=3).
compute it(1,1)=starter.
end if.
else.
do if (seq(1,seqk)=1).
compute it(1,))=it(1,j-1)+step.
else if (seq(1,seqk)=2).
compute it(1,j)=it(1,j-1)-step.
else if (seq(1,seqk)=3).
compute it(1,))=it(1,j-1).
end if.
end if.
end loop.
*print it.
compute itmat(i,:)=it.
*print /space=3.
else if (type = 3).
compute seg=trunc(uniform(1,5)*3+1).
loop ii=1 to ncol(seq).
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compute sequen(i,ii)=seq(ii).
end loop. '
* print seq.
compute starter=trunc(uniform(1,1)*20+1 )+20.
compute startl(i,.)=starter.
* print starter.
compute step=1.
* print step. ,
compute it=make(1,20,0).
loop j=1t0 20.
compute segk=mod(j,ncol(seq)).
do if (segk = 0).
compute segk = ncol(seq).
end if.
* print segk.
doif G=1).
do if (seq(1,seqk)=1).
compute it(1,1)=starter+step.
else if (seq(1,segk)=2).
compute it(1,1)=starter-step.
else if (seq(1,segk)=3).
compute it(1,1)=starter.
end if.
else.
do if (seq(1,seqk)=1).
compute it(1,j)=it(1,j-1)+step.
else if (seq(1,seqk)=2).
compute it(1,j)=it(1,j-1)-step.
else if (seq(1,seqk)=3).
compute it(1,j)=it(1,j-1).
end if.
end if.
end loop.
*print it.
compute itmat(i,:)=it.
*print /space=3.
else if (type = 4).
compute seql=trunc(uniform(1,2)*3+1).
compute seq2=trunc(uniform(1,2)*3+1 ).
loop ii=1 to ncol(seql).
compute sequenl(i,ii)=seq1(ii).
end loop.
loop ii=1 to ncol(seq2).
compute sequen2(i,ii)=seq2(ii).
end loop.
* print seql.
* print seq2.
compute starter | =trunc(uniform(1 ,1)*¥20+1)+20.
compute starter2=trunc(uniform(1,1)*20+1)+20.
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compute startl(i,:)=starter].
compute start2(i,:)=starter2.
* print starterl.
* print starter2.
compute step=1.
* print step.
compute it=make(1,20,0).
loop j=1 to 20 by 2.
compute seqkl=mod((j+1)/2,ncol(seql)).
do if (seqkl = 0).
compute segkl = ncol(seql).
end if. '
* print segkl.
doif (j=1).
do if (seq1(1,seqkl)=1).
compute it(1,1)=starterl+step.
else if (seql(1,seqkl)=2).
compute it(1,1)=starterl-step.
else if (seql(1,seqgk1)=3).
compute it(1,1)=starterl.
end if.
else.
do if (seql(1,seqgkl)=1).
compute it(1,j)=it(1,j-2)+step.
else if (seql(1,seqkl)=2).
compute it(1,j)=it(1,j-2)-step.
else if (seql(1,seqk1)=3).
compute it(1,))=it(1,j-2).
end if.
end if.
end loop.
loop j=2 to 20 by 2.
compute seqk2=mod(j/2,ncol(seq2)).
do if (segk2 = 0).
compute seqk2 = ncol(seq2).
end if.
* print segk2.
do if (j = 2).
do if (seq2(1,seqk2)=1).
compute it(1,2)=starter2+step.
else if (seq2(1,seqk2)=2).
compute it(1,2)=starter2-step.
else if (seq2(1,seqk2)=3).
compute it(1,2)=starter2.
end if.
else.
do if (seq2(1,seqk2)=1).
compute it(1,))=it(1,j-2)+step.
else if (seq2(1,seqk2)=2).
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compute it(1,j)=it(1,j-2)-step.
else if (seq2(1,seqk2)=3).
compute it(1,j)=it(1,j-2).
end if.
end if.
end loop.
*print it.
compute itmat(i,:)=it.
*print /space=3.
else if (type = 3).
compute scqlatrunc(uniform(l,2)*3+1).
compute seq2=trunc(uniform(1,3)*3+1).
loop ii=1 to ncol(seql).
compute sequenl(i,ii)=seq1(iD).
end loop.
loop ii=1 to ncol(seq2).
compute sequen2(i,iiy=seq2(ii).
end loop.
* print seql.
* print seq2.
compute starterl =trunc(uniform(1,1)*20+1)+20.
compute starter2=trunc(uniform(1,1)*20+1)+20.
compute startl(i,:)=starterl.
compute start2(i,:)=starter2.
* print starterl.
* print starter2.
compute step=1.
* print step.
compute it=make(1,20,0).
loop j=1 to 20 by 2.
compute segkl =mod((j+1)/2,ncol(seql)).
do if (segkl = 0).
compute segkl = ncol(seql).
end if.
* print segkl.
doif j=1).
do if (seq1(1,segkl)=1).
compute it(1,1 )=starterl+step.
else if (seql(1,segkl)=2).
compute it(1,1)=starter!-step.
else if (seql(1,segkl)=3).
compute it(1,1 Jmstarterl.
end if.
else.
do if (seql(1,seqkl)=1).
compute it(1,j)=it(1, j-2)+step.
else if (seql(1,seqk1)=2).
compute it(1, JD=it(1,j-2)-step.
else if (seql(1,seqkl)=3).



compute it(1,j)=it(1,j-2).
end if.
end if.
end loop.
loop j=2 to 20 by 2.
compute seqgk2=mod(j/2,ncol(seq2)).
do if (seqk2 = 0).
compute segk2 = ncol(seq2).
end if.
* print segk2.
doif  =2).
do if (seq2(1,seqk2)=1).
compute it(1,2)=starter2+step.
else if (seq2(1,seqk2)=2).
compute it(1,2)=starter2-step.
else if (seq2(1,segk2)=3).
compute it(1,2)=starter2.
end if.
else.
do if (seq2(1,seqk2)=1).
compute it(1,j)=it(1,j-2)+step.
else if (seq2(1,seqk2)=2).
compute it(1,j)=it(1,j-2)-step.
else if (seq2(1,seqk2)=3).
compute it(1,j)=it(1,j-2).
end if.
end if.
end loop.
*print it.
compute itmat(i,:)=it.
*print /space=3.
else if (type = 6).
compute seql=trunc(uniform(1,3)*3+1).
compute seq2=trunc(uniform(1,2)*3+1).
loop ii=1 to ncol(seql).
compute sequeni(i,ii)=seq1(ii).
end loop.
loop ii=1 to ncol(seq2).
compute sequen2(i,ii)=seq2(ii).
end loop.
* print seql.
* print seq2.
compute starter]=trunc(uniform(1,1)*20+1)+20.
compute starter2=trunc(uniform(1,1)*20+1)+20.
compute startl(i,:)=starterl.
compute start2(i,:)=starter2.
* print starterl.
* print starter2.
compute step=1.
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* print step.
compute it=make(1,20,0).
loop j=1 to 20 by 2.
compute seqk1=mod((j+1)/2,ncol(seql)).
do if (segkl =0).
compute segkl =ncol(seql).
end if.
* print seqkl.
doif(G=1).
do if (seql(1,segkl)=1).
compute it(1,1)=starter] +step.
else if (seql(1,seqgkl)=2).
compute it(1,1)=starter]-step.
else if (seq1(1,seqkl)=3).
compute it(1,1)=starterl.
end if.
else.
do if (seq1(1,seqkl)=1).
compute it(1,j)=it(1,j-2)+step.
else if (seq1(1,seqkl)=2).
compute it(1,j)=it(1,j-2)-step.
else if (seql(1,seqk1)=3).
compute it(1,j)=it(1,j-2).
end if.
end if.
end loop.
loop j=2 to 20 by 2.
compute seqk2=mod(j/2,ncol(seq2)).
do if (seqgk2 = 0).
compute seqgk2 = ncol(seq2).
end if.
* print segk2.
doif j =2).
do if (seq2(1,seqk2)=1).
compute it(1,2)=starter2+step.
else if (seq2(1,seqk2)=2).
compute it(1,2)=starter2-step.
else if (seq2(1,seqk2)=3).
compute it(1,2)=starter2.
end if.
else.
do if (seq2(1,seqk2)=1).
compute it(1,j)=it(1,}-2)+step.
else if (seq2(1,seqk2)=2).
compute it(1 J)=it(1,j-2)-step.
else if (seq2(1.seqk2)=3).
compute it(1,j)=it(1, j-2).
end if.
end if.
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end loop.
*print it.
compute itmat(i,:)=it.
*print /space=3.
end if.
end loop.
compute inum={1:50}.
compute itnumt=transpos(itnum).
compute length=make(50,1,0).
compute keypos=make(50,1,0).
loop j=1 to 50.

compute keypos(j,1)=trunc(uniform(1,1)*4+1).

do if (typemat(j,1) = 1 or typemat(j,1) = 2 or typemat(j,1) = 4).

compute length(j,1)=trunc(uniform(1,1)*3+13).
else.
compute length(j,1)=trunc(uniform(1,1)*2+1 5).

end if.
end loop.
*compute
itmatt= {imumt,bar,typemat,bar,sequen| ,bar,sequen2,bar,start1,bar,start2, bar, itmat }.
compute itmatt={itnumt,typemat,sequen1,sequen2,start1 ,Start2,itmat,length keypos }.
print itmatt.
save itmatt /outfile=*.
end matrix.




